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; Grey line: exponential fit Peak flux: 2.827+/- 0.767 c/s/cm? ;
C Black line: power law + gauss fit Fluence : 12.42+/- 3.35 c/cm? 1
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=  Expon.time: 2.42+/- 1.04s (chi*red= 1.19) =
SN | ety o Wbt g A=
— w *ﬁﬁ*”ﬁwﬁ*ﬂ ﬂH*+ﬂﬂ*Qiﬂ*H*ﬁﬁﬂHﬁﬂﬂﬁﬂﬁjﬂj*:*Hﬂ*Tﬁ*ﬁ+##HﬁﬁwﬁwWHﬁ“ﬁ*ﬁwjﬁﬁwﬁ*ﬁ“ﬂﬁjwﬁ%*ﬁﬁ#ﬁwa%ﬂﬂﬂﬁwﬂﬁgﬁmﬁ*ﬁﬁmmﬁﬁﬂ*#ﬁﬁﬂﬂﬁ#ﬂw+W%¢¢
= f =
; Power law fit é
= Power law index: -2.042+/- 0.537 (chi’-red= 1.19) 3
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— Power law fit plus Gaussian (st.dev.= 7.40+/- 2.58 s, fracgs= 0.19+/- 0.11) =
- Power law index: -3.616+/- 5.253 (chi*-red= 1.19) 3
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